
SAP ABAP table TRUGS {User status caused by deviation}

TRUGS

MANDT [CLNT (3)]

WERKS [CHAR (4)]

GRUND [CHAR (4)]

STSMA [CHAR (8)]

USSTA [CHAR (5)]

T000

MANDT [CLNT (3)] TRUGS-MANDT = T000-MANDT 1..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)] TRUGS-WERKS = T001W-WERKS 1..N

1
TJ20

MANDT [CLNT (3)]

STSMA [CHAR (8)]

 TRUGS-STSMA = TJ20-STSMA 
0..N1

TJ30

MANDT [CLNT (3)]

STSMA [CHAR (8)]

ESTAT [CHAR (5)]

 TRUGS-USSTA = TJ30-ESTAT 

0..N

1

TRUG

MANDT [CLNT (3)]

WERKS [CHAR (4)]

GRUND [CHAR (4)]

 TRUGS-GRUND = TRUG-GRUND 

1..N

1


